12. ;Nhat 1s the coefficient of x2 when 15. If m and k are positive numberS,
=x> + 2x% — 3 is multiplied by . . T
. =~ which of the following expressions 1s
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13. What 1s the resulting coefficient of x
when -2x+3 1s multiplied by -3x-2?

A. -9
B) -5 ( b +5) (- 31—2
. O
D. 6
Yo = 1%
_5 x

=
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14. What is the product of

the roots of the equation
2__,@'2 +x-10=07
Z X LY

4

(@)
% 4—7%"62

A) -20
B) -5
CISRs
D) -2
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16.Given f(x) =2x*-3x+1 and
g(x) = =3x + 5, what is the value of

(f ©g)(=2)? (grid-in)

vl S
A. -40 0)(-—2> = -3(-2) 7
B. 6
(o2 2
D. 274 jc(“) - 9010 ~3C11) +l
_gQi2) =¥+
_y2 - %2
- 2lo



17. What 15 the product of the solutions of 19. Using the figure below, what is the

the equation X2 -3 ==2 9 value of x? (grid-in)
(Grid-1n) e 3x@B =

A. -2

B. -3 PVUO/: <

C.2

D. 3 Sums t°

20. In triangle ABC, sin(0)=(0.5> ~
What 1s the measure o @
hat x=3and x = —1. What (figure not drawn to scale)(Grid-in)

18.The function h(x) = x* —ax — 3

is the value of a? (grid-in) Soh Dey A
Cak '@
L 2N =0 }L <
A. - () -5 Toa |
B. -2 /_..\’B
q_-3a- o<9°
TN -
.9 Oj, B = %4 4
6 = é a C 8
a
e
G e
A. 15
B. 30 |
C. 45 - Nk sz |
N Pt
_ D
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1. The secret value, k, of a 4-digit pin code abced 3 = il : :
1s obtained by subtracting the triple of b from The stralght lme m has an oquation
& an@ the resulting expression by y Z@X. The point A of coor dmate@

l_}é_llf of the sum of a and d) What is the secret 1s on m. The line P 1S perpendlcular to
m at point A. Which of the following

value. k. in terms of a.b.c and d?

B . " 9
X = Ty mgb . points 1s on p: @
 — B—=3C LA C_. . ?.C—{ 3 9
x. _gajgg \\x i\ (Q-’-—J \ ) Q_—&—&[ ( ’5) @ q—-3_ - ¥
— (B == o\ (5,';) 3
D ke =S C. (3,0)
- D. 0,00 & %-3 _ -1
. -y

2. Vanessa’s company has a bonus policy.
At the end of each month, based on his or
her performance, every employee gets
effort points. At the end of each year,
each employee gets paid a fixed bonus
amount of 4008 and an additional bonus
of 508 for each effort point earned by the
employee. At the end of the year 2019, 4

Vanessa got @onus of 10(_)/@. How ' ;1_'1:'13 graph shot\}'n ‘r;:prcscnts which of the
many effort points had she earned during ollowing equations®
? 2
the year 2019° (/Z/ 60)(:’/00\05 V(y=—;x—3
& o m ¥ é—x + 3
B. 2.375 5o x= 690 (Q y=@p+3
< 4 D. y=—>x+3
o 0 o —_ — -
D. 200 > = £22 :

Cc%
_ o
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5. When a system of two linear equations
has no solution, how do the graphs of the

equations appear?

A. The lines intersect at a single point.
B. The lines have the same x-intercept.

C. The lines are parallel. .
D. The lines are confounded. 6;«9& T

6. Amina has a bag of 6 black balls and

4 green balls. Hamad has a bag of 3
black balls and 5 green balls. If m
ball 1S drawn from €ac *‘;‘:'

A. 0.225 = 35
@ B. 0.25
C. 0475 ( y(; 5G
D,) 0.525
R
and R £ G Ei
6 x = - T:X_{ D
. 3B
New/ Q\CO

7. A store did a sale;on a pair of shoes
It is(now) for $103.5 instead of $230.

What 1s the percent discount?

A. 50% A=
B. 45% o/ chmyes 77~ x oo
(€.055% S
D. 589
/o /03'6—2% Y/O()
923

- 5D
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8. What 1s the solution for x 1n
2 = ¢¥2x —37? e
’ Lf c 24X -3
A 25 (Suke
JF S AC
3.5 .
C. 45 T TR
i
— B,
9. If the ratio of vaccinated teachers to non-

vaccinated teachers in a school i€ 6:7)what is the

of the vaceinated school teachers?

a) 7.69% v . \N 2
b) 85.71% XS{ )
1
d) 53.84%
)C — {(\0@ = L‘é. \6‘[
595 >

10. During the final game of UEFA Euro
020 _between Italy and England,
ans attended the game in
Wembley Stadium 1n London,
England. Assuming that the ratio of
adults to ‘children who attended the
game was approximately 13 to 6,
which of the following numbers
represents approximately the number

of (children)who attended the game
live 1n the stadium?

(&) 21213 s C /"(W{
B. 31002 ?3 :
C. 36170 x - 6-:‘, X
D. 45960 '
& x £x1 %3 212\}
Hr

24



11. From 2020 to 2021, the amount in
Tom’s bank account decreased by
11% to $49840. What was the initial
amount in her bank account?

A. $54820 _ 4984
é s44358 0.3 M

$56000
W. $45309

. Christopher needs to

save $250 for the new
PlayStation he wishes to
buy in a week. He went to
work in a coffee shop
where he is going to be
paid $10 per hour. In
addition, he accepted to
help his father in
carpentering for $18.5 per
hour. However, he cannot

work more than 20 hours
this week due to his
university schedule.
Which of the following
graphs will show the

) U ke i
H - F C J £/ —A) PQV

S0 | "

;/j/l d}( .t (e29) '

ok ")

L

7" - [t ervals

o - 6 >C ~— BVE =
-3y +05x=1 S
12. o ~2 -3 0- BN\ ~-1"
{ -23x=-15-03y - _ 14, In a sports academy,

the ratio of kids learning

basketball to kids learning

football 1s8:10, while the .

ratio of kids learning & ;C P
0

foothall to kids learning g !0 :

pingspong is ¥5:6. If there| [
.8 O ->  are 20 kids learning

\*5 basketball, how many Kids %x\s 12

From the system of equations
above which can be graphed in
the xy-plane, what is the sum of
the abs€issa and the ordinate of
the intersection of the two lines

“5

C) 27 3, are learning ping-pong? /o
AN 2L C) 25 o
65 = — = (>

——
‘85
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